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1 �	� �2� 
�

��� �	 � ��	���
 ,�.� /01-+���� ��
����	�
 ���-
������ �/01-"2 � �*� ������ �� �������	�
 �	�����	� �	� �

�,� ����-

*�	� ��� � �����
�
�� ������	 �������� �	 �	. ����
���	� �*� 
���� �� �
+�	��. �������� �����	�� �� �	� ����� ������	� �*�� 
�	 +� ����
�� +.
� ������	 ��	
���	� 0��* �� �*�� ��� �	�����	�� ����	�� �	. ��	���	�

���	���������	 �� �*� ����� ���. �
�
�� 3� *��� ���
��� �*��� ���������
�	 � 
��� ����. ����
���� �� �����	� �*� 2�4 �	 �.� ��	��� 
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 ���� �� ��
����� ���
 ��� ��
�����
���	 �	
�������� �����	  !"� #$� �
����
���	 �� �$
� ��
���� ��	����� �	 ����
��	% �$�
�	��	���� �� 
 ��&��' gc' (��$ ��� 	��%$)���	% ��&���' gp' 
	
 ��	��
���	% �$� ������
�� �
�$ ����
����	 
� 
 )�� �	 
 )�	
�� ����	%� *	 �$
� ����
����	' �	�� �$� ��%	'
s(x)' �� ��	��
���
+

s(x) =

{
1, x ≥ 0

0, x < 0
�,�

�� 
���%	�	% 
 )�	���
� �
���� 2p ��� �
�$ ����
����	' s(gp − gc)' (� �)�
�	

 �	���� LBPP,R 	��)�� �$
� �$
�
�����-�� �$� ��
��
� ��������� �� �$� ���
�
��
%� ��&����+

LBPP,R =
P−1∑
p=0

s (gp − gc) 2
p �.�
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�
	�
%�' LBPP,R

����
��� �� )� 
��	����	 �	�
��
	� 
%
�	�� 
	� ��	���	�� ��
	�����
���	 �� �$�
��
%� %�
� ��
���

/ �&��	���	 �� �$� ��� ���%�	
� ����
��� �� LBP riu2
P,R ' 
�����)�
 �	  0"+

LBP riu2
P,R =

{∑P−1
p=0 s (gp − gc) if U (LBPP,R) ≤ 2

P + 1 otherwise
�1�

($��� �$� ����������� riu2 ��2���� �$� ��� �� ���
���	 �	�
��
	� �	����� �
��
���	� �$
� $
�� U �
��� �� 
� ���� .' 
	
 U(.) �� 
 �	�������� ��
���� 
��	�

)�+

U(LBPP,R) = |s (g0 − gc)− s (gP−1 − gc)|+
P−1∑
p=1

|s (gp − gc)− s (gp−1 − gc)|

�3�
#$��' �� U(LBPP,R) ≤ 2' �$�	 LBP riu2

P,R �� �
����
��
 )� ���	��	% �$� 	��)��
�� �	�� �	 �$� )�	
�� ����	% LBPP,R4 ��$��(��� 
�� �$� ��$�� �
����	� 
�� �
)��
��
 
� 5�������
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���
 �	�� �	� �
��� P + 1� #$�� ����
��� �� 
	
�&�����	� ��
���� �� �$� ��
��
� ��������� �� ���
� ��
%� ��&���� 
	
 �� �	�
��
	�
�� ���
���	� 
	
 
%
�	�� 
	� ��	���	�� ��
	�����
���	 �� �$� %�
� ��
���

#$� �
�
 �� �$� ��� ����
��� �
	 )� 
��� �&��	
�
 )� ���	% ���
���	
� ��	�
����	�  7"+

� (x, y, r1, r2, φ, n) → [0, 1]n �8�

#$�� ��	����	 �� �
����
��
 �	 
 ���	� (x, y) �� �$� ��
%�' ����
��	% �$�
�	��	���� �� n ����
���
	� �
��� �� ���	�� ���
��
' ������������' �� 
 
���
	��
r1 
	
 r2 ���� �$� ���	� (x, y)� #$� �

�
� �������' r1 
	
 r2' 
�(
�� ���� 

��	��
	� 
	%�� 
��	�
 )� φ� �
��
 �	 
�9���	� ���)�	
���	� �� r1'r2 
	
 φ'
���
� �	����
���	 
� 
�9���	� ��
��� 
	
 ����	�
���	� �
	 )� �
�����
� :�(����'
�$
� ��	����	 
��� 	�� �����
� ���
���	
� �	�
��
	���

#
;�	% �$� 
)��� 
��	�
 ����
���� 
� �	����
���	' (� 
�����)� �	 �$�� �
���
�(� 	�( ����
����' 
�	���
 )� �riu2

1 
	
 �2� #$� ������ �� 
 ���
���	
� �	�
��
	�
�&��	���	 �� � 
	
 �$� �
��� �� 
 ����)
��
 )�	
�� ����
��� 
���%	�
 �� �	

��
%� �
����	� �$
� �
	 )� ��
���
 )� 
 ��	����	�

#$� 
������ �� ��%
	�-�
 
� �����(�� <�����	 . 
�����)�� �$� �(� 	�( ����
����
��	���	�
� *	 ������	 1' (� ���� �$� �������
	�� �� ���$ ����
���� �� 
�����
�
����	� �	 
 �
�� ���
�+ ��%��	�
���	 �� �$� ����� 	���� $�

 �	 ��� ��	
��
��
%��� =�	
���' ������	 3 �����	�� �$� ��	������	� 
	
 ������ (��;�

� �
������� �����
���� ���������

*	 �$�� ������	' (� 
�����)� �(� 	�( ��
%� ����
����' �riu2
1 
	
 �2' )
��
 �	

�$� ��	����� �� ���  !' 0" 
	
 ���
���	
� ��	����	  7"� #$�� (��� )� �
���
' �	 
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X

fp(x) 

(x0,y0)

�� 
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X

(x0,y0)

farc(x) 
τ ε,

ε

τ 

�+ 

=�%� ,+ �&
����� �� �
����	 ��	����	�' fp(x)' 
��	�
 �	 
 ��
%� ���	� (x0, y0)+
�
� %�	���� ��	����	 �)� ������� 
�� ��	����	' f τ,ε

arc(x)�

%�	���� (
�' ����)
��
 ���
���	
� ����
���� �����>?�� ?	 �$� �	� $
	
' �riu2
1

��������	
� �� 
	 �&��	���	 �� �8� 
	
 �� 
��	�
 )�+

�riu2
1 (x, y, r1, r2, φ, n) → {0, 1, ..., (n+ 1)} �!�

:���' �$� �
�
 �� �� 


 ���
���	
� �	�
��
	��' ���	% �$� ��	���� �� �	��������
��
���� 
��	�
 �	 �3�� #$��' �$� ������
���	 �� �$�� ����
��� �� %���	 )�+

�riu2
1 (x, y, r1, r2, φ, n) =

{∑n−1
k=0 R1k if U(R1k) ≤ 2

n+ 1 otherwise
�0�

($���

R1k = s(g(x2, y2)− g(x1, y1)), k = 0, 1, . . . , (n− 1) �7�

U(R1k) =| R10 −R1(n−1) | +
n−1∑
k=1

| R1k −R1(k−1) | �@�


	
 �$� ����
�	
��� �� �
�$ �
�� �� ���	�� �� ����
�� �� %���	 )�

(x1, y1) = (x + r1 · cos(k · 2π/n), y + r1 · sin(k · 2π/n) �,A�

(x2, y2) = (x + r2 · cos(k · 2π/n+ φ), y + r2 · sin(k · 2π/n+ φ) �,,�

?	 �$� ��$�� $
	
' �$� ����	
 ���
���	
� ����
���' �2' �� 
��	�
 )�

�2 (x, y,Hxi,yi , fp(x), n) → {0, 1} �,.�



($��� (x, y) 
�� �$� ����
�	
��� �� �$� ��
%� ��&�� �	 ($��$ �$� ����
���
�� 
�����
' 
	
 Hxi,yi = {(xi, yi) | yi = fp(xi), i = 1, ..., n} �� 
 ��� �� n ���	��
�������	% ���� �
����	% �$� fp(x) ��	����	' �
���
 ������� ���	�
�� ���� �%���
,
�� #$� ������
���	 �� �$�� ����
��� ��	����� �	 ����
��	% �$� �	��	���� �
���
�� �$� ��&��� )���	%�	% �� Hxi,yi (��$ �$� �	��	���� �
��� �� �$� ������	�� ��&��'

����
�	% �� �$� �����(�	% �������
+

�2(x, y,Hxi,yi , fp(x), n) =

{
1 if g(xi, yi) ≥ g(x, y), ∀iε{1, . . . , n}
0 otherwise

�,1�

B��� �$
� �$� ������� �� �$�� ���
���	
� ����
��� �� �� �
�	���� 
 �
������
�
�
����	' 
��	�
 )� fp(x)' �	 �$� 	��%$)��$��
 �� �$� 
	
����� ���	��

� ���� ������ �������
�� ��� � !

#$� ��%��	�
���	 �� �$� ����� 	���� $�

 �?B:� �� �� ������
� ������
	�� �	
����	
� ��
%� 
	
����� )��
��� ?B: 
�����)
	��� �
	 )� 
	 �	���
� ������� ��
������� ��� 
���
���� #$� ?B:' 
��� �
���
 ����� 
��; �� �
����
' �� ��
���$
��
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 �	 �$� 
��
 ($��� 
�� �$� ����	
 	���� �)��� ���� ��%��$�� �� ����
�$� ��
�� �� �$� ����� 	���� �$
� ��
��� �$� )
�; �� �$� ���)
��� #$��� �� 
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	� 	���� �)��� �
���
 �&�
�
���	 ��$� ��	��� �� �$� �
����
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���	

�� 
	��$�� 
��
 �
	 )� ���	
' �$� 	��������	
� ��	%' ($��� �&���	
� ���������

������� �$� �
����
�� ��	�����

Eye Fundus 
Image

Extract 
subwindow

Interest Points

Appy LBP-ROsImage 
subwindow

Find elliptical 
contour by GA

Solution 
elliptical contour

=�%� .+ ����; 
�
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� ����
��-�	% �$� �������
 ���$�
 �� ��%��	� �$� ?B:�

#$� ��%��	�
���	 ���$�
 $��� ���
 �� 
 �
��
���	 �� �$� ���$�
 
�����)�

�	  1" 
	
 (��$ ($��$ (��� )� ����
��
 ���� <�����	 1�.�� #$� �
�	 
�9���	��



)��(��	 )��$ ���$�
� ���� �	 $�( �� %�� �$� ��� �� �	������ ���	�� �*���� :���' �$�
*�� 
�� �)�
�	�
 ���	% ����>?� 
	
' �	 �$� ���%�	
� ���$�
' �$�� 
�� �)�
�	�

���	% 
 
��
�	�;	�(��
%��)
��
 ��
��	 ���$�
� =���� �� 
��' �	 ��
�� �� ��
���
�$� ��������	% ������
���	
� ���� 
	
 �$� 	��)�� �� 
����
���� �
����	�' �$�
������� )�%�	� )� 
����
���
��� �&��
���	% 
 ��)�(�	
�( ���� �$� ���%�	
� ��
%�
�$
� �� 
����&��
���� ��	����
 
� 
 ���	� �� �$� �
����
�� 
��
  8"� B�&�' �$� �(�
����>?� 
)��� 
��	�
 
�� 
�����
 �� �$� ��
%� ��)�(�	
�(� 
	
 �$� ������
�� 
 ��� �� *�� ���	�� �$
� $
�� 
 $�%$ ���)
)����� �� )���	%�	% �� �$� �
����
��
��	����� #$�	' (� ��� 
 %�	���� 
�%����$� �C/� �� �	
 
	 ������� ($��� ��	����
�� �����
 )� �$� �
&���� 	��)�� �� �	������ ���	��� =�	
���' (� ������ �$� )���
%�	���� ������� ��
����
�� ��	����� ���� �$� �	
� �����
���	 
� �$� �������	 ��
��� ���)���� #$� �%��� . ����
��-�� �$� ��������

��� �����	 
��
��
��
���

#
;�	% 

�
	�
%� �� �$� �$
�
���������� �� �$� ����
��� �2' (� ������
 
� �����(��
C���	 
	 %�	���� ������� ��
��
 �	 �$� ����	
� ��
%�' �2 �� 
�����
 �	�� 
	

�&��������� �� �$��� ��&��� )���	%�	% �� �$� ��	���� �� �$�� �������� #� 
� �$
�'

 ��	����	 
�	���
 )� f τ,ε

arc(x) �� 
��	�
 ��� �
�$ ��&�� �� �$� ��	����� #$
�
��	����	 ��������	
� �� 
	 ������� 
�� ($��$ �� �
�
���� �� �$� ��	��
���
 �������'
$
� 
 ��	%�$' τ ' 
	
 �� ���
�
��
 
 
���
	��' ε' ���(
�
� ��� ����� ��
�� ����
�$� 
	
����� ��&�� (x, y) ���� �%��� ,)�� #$�� ����
���' �$�� �	��
	��
��
' (��� )�
$����	
���� 
�	���
 )� �2�0+

�2�0 = �2(x, y,Hxi,yi , f
τ,ε
arc(x), n) �,3�

#$� )����� �$� ������� 
����&��
��� �$� ��	���� �
����
��' �$� %��
��� �$�
	��)�� �� ��&��� )���	%�	% �� �$� ������� ��	���� �$
� �
������2�0 = 1� #$��
�����(� ���� �$� 
��	����	 �� �$�� ����
��� 
	
 �$� �������� �� �$� �
����
��
��	����+ ���	���� �$
� ���
�
��� �$� �
����
 �)��%$� 
��
� ���� �$� ����	
 �

�;��

��
�� :�(����' ��	�� �	�	��� �������� �
	 )� ��
��
 �	 �$� ��
%�' (� (��� ���

 %�	���� 
�%����$� �	 ��
�� �� ��
��$ �$� �����
� �������� #� ��
� �$�� ���� ��
�������	�' �$� �$�	������ ��
�� �� ��
	������
 �	�� 
 %�	������ ��
�� ��	�����	%
�� ��
� ������� �� ��� �
��
)��� [x, y, a, b, θ]' ($��� (x, y) �������	�� �$� ��	���
�� �$� %�	���� �������' (a, b) �$� �
%	���
�� �� ��� �
D�� 
	
 ��	�� �����
&��
������������ 
	
 θ �$� 
	%�� �$
� ��� �
D�� 
&�� ����� (��$ �$� &�
&��� =�	
���'
)� 
�����	% �����)�	
���	' ���
���	 
	
 ��������	 ����
����' 
 �����
���	 ��
�$��������� ���������� ������� �	��� 
 �	
��-
���	 ��������	 �� 
�$����
� #$� 
��
%��� �� 
����&��
���	 �� �$� �������	 �� �
�$ ������� �
	 )� �
����
��
 ���	% �$�
�����(�	% ��	��� ��	����	+

ffitness1 =
∑

(xk,yk)∈GEC

�2�0(xk, yk,Hxi,yi , f
τ,ε
arc(x), n) �,8�

� ���
��
�

.� �*� ��������� ��� ���
��� �� �*� 8 
*�		�
 �� ����
� �� ���	������	� �*�
�����	�
 "50 
�
�� ���
� �	�� 4�8 ���
��



($��� GEC �� �$� %�	���� ������� ��	����� #$
� ��' �$�� ����
��� ��������
�$� 	��)�� �� ��&��� )���	%�	% �� GEC �$
� �
����� �2�0 = 1�

:�(����' �� �� �����)�� �� ���	� �$� ��	��� ��	����	 
��	�
 �	 �,8�� ?	� ����
�
;� �	�� 
����	� �$
� �$� ������� 
�� 
��� 
�������
 )� )��	

���� ���
�
��	%
�$� ����	
 �)��%$��� 
��
�� ���� �$� ������� �

�;�� 
��
��� <� �� (� �	�� 
�����

�$� ��	��� ��	����	 
��	�
 �	 �,8�' �$� �
����
�� ��	���� ����
 )� �����
 )� 

%�	���� ������� ($��� ��	���� ��&��� )���	% �� �����������	
 )��	

���� �� �$� �
�
����
�� ��	����� *	 ��
�� �� ��
��� �$�� �����)�����' (� (��� ��� �$� �riu2
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